0248 20ilaF LBk JIEHSER A, SIS ERH FaH

DA
M HIIE 2l
CHels MEMgD] & HDIE NE 2el

g 8 A A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A4 24,781,284 28,283,603 A3,502,319
= 251,998
[ 466,640
Jl 809,400
S 255,253
= 22,997,993
HolE 2l 15,566,667 16,532,553 34,114
= 82,540
s 466,640
== 217,878
o 14,799,609
M Z HIIZ2 XE 2 15,566,667 15,532,553 34,114
= 82,540
[ 466,640
S 217,878
= 14,799,609
HEHDIZE 22 = 428,640 402,000 26,640
201 er23| 31,520 42,000 210,480
01 At2teltl 31,520 42,000 10,480
OUEEIIZ AEIH ME
4002 = 50,0000H 20,000
OdEHIIZ =clHE 222
10,000,000& 10,000
OHgZs 2t 24 1,520,000 1,520
203 HR=H] 1,500 1,500
03 A=A PR 1,500 1,500
OHAHT ALEX HEY)
1,500,000& 1,500
206 M=l 385,500 358,500 27,000
01 M=4l 385,500 368,500 27,000
OsAlgMdl =g 7
60,0002 * 10002 6,000
OXIl #ASE MA 379,500
-1LE 183 = 200,0000H 3,600
3L E 258 = 1,000,0000H 25,000
VA= 312 * 800,0000H 24,800
1043 38& * 700,0000H 26,600
0L E 57& = 2,200,0000H 125,400
0L E 1243 = 400,0000K 49,600
548 1692 * 500,0000H 84,500
PPELH(30¢ E) 4002 * 100,0000H 40,000
401 AlEHIZL S0 10,120 10,120
01 Al&H| 10,120 10,120




2A:

AP M

H2: EHD|E 22
Rl dEMY D] & HOIE XIE 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Omisao1 mels) 4,4008 * 2,300k 10,120
SHSI! A= 2 97,750 168,582 A\60,832
201 Yereely| 64,382 64,382 0
01 At2teltl 42,000 42,000 0
OM)| 2ESIIEX & 224K B2 17,000
=Rt 15,0002 = 20001 * 22 6,000
-E2= 11,000,000 11,000
OgxIHII= el 100,0002 = 240& 24,000
OHJIZ LS| S ORie= S|
8,000& * 5%  253] 1,000
2 55234l 22,382 22,382 0
OMJ| SYSI| S=EHI(00TV) QIESAIR
= 100,000 = 5CH = 122 6,000
OMI| SYEI| S=EHI(C0V) MIIR2
2,0008 = 580 123 1,392
OMJ| BYSI| S=EH| 01F LX) 3,000
~EYEI| B8 (OIV 0l
300,000 * 5CH 1,500
01X &R FI| AERES
300,002 * 504 1,500
OMYI| SYSI| H=EE| SN2
110,000& = 109CH 11,990
202 048l 10,368 11,200 AB3R2
01 =LHOHI 10,368 11,200 A832
OHA#Y 2227 o]
10,368,000 10,368
301 LetE2NS 3,000 3,000
14 JIELE A S 3,000 3,000
OSHS)| MDA 3,000,0002 3,000
401 A& H L2 0H| 20,000 80,000 80,000
01 Al&H| 20,000 80,000 60,000
OXYI| SYEI| X WCV(0ISA) £X
4,000,000& * 5CH 20,000
WEEE Kes 144 5,744 5,600
201 er=3| 144 4,544 A4,400
2 33234l 144 144 0
O2elsies &IIe3
6,000& » 2J42 = 123 144
xS 2 8,293,000 8,577,940 A\284,940
207 ARl 35,000 0 35,000
01 A1E4H| 35,000 0 35,000
OMEHIIS +ESLHAUIS MES 9
P EINE R 20,000,000 20,000
OMEHIIE +TSLATI0 3 (A=
gt 89 15,000,000 15,000
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2A:

AP M

M HOIE2 2el
S dEMDl & HIIE N 22 (SH &)
= - d L=
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
307 QI2HOl A 8,258,000 8,577,940 A319,940
05 QIZtRES 8,258,000 8,577,940 A319,940
OMEHDIZ +=&2E [HalY| 8,018,000
-CHet | 8,000,000,000& 8,000,000
—Ctd e 2te|d| 6,000,000& * 30K 18,000
O3a2J HJIE fI% XMeltl
200,000& * 1,200 240,000
MEHI|IE MelAld 22l 4,903,845 4,811,208 92,637
201 L2 | 55,661 36, 157 19,504
01 Ar2eltl 45,461 27,157 18,304
OHle4 HEE At=2tel 7,080
Xt B A
137,8002 * 3HA * 43| 1,654
-EAQAT At
1,356,410& » 4044 * 135 5,426
O+ HEZE At=2te] 23,913
Xt B A
137,8002 * 3HA * 43 1,654
—EES SRAM
1,462,450 * 104 * 43] 5,850
-OHEOtA HAL
300,000& * 44 + 13 1,200
-EAQHT A
2,282,502 * 4012 * 13 9,130
XIES SEAM
1,939,300& * 1004 * 23] 3,879
-Klgt &ote Al
220,000 * BIHA * 23] 2,200
OWSE pIgl 217 £EAA 11,468
XI5t SEAM
137,8002 » 1JHA * 23] 276
HES £EAM
1,462,450&3 * 114 * 53] 7,313
X ES SEAA
1,939,300& * 1004 * 23] 3,879
QHIIEMS 28 22 |AIY|
3,000,000& 3,000
02 E2324H| 10,200 9,000 1,200
OFMEE SN2+ 22ld]
3,000,000& 3,000
OFMEE &L= 600,000& » 12& 7,200
202 (4t 5,184 3,840 1,344
01 =04 b| 5,184 3,840 1,344
OXEAIE HEFE 0l 5,184,000& 5,184
206 =4I 3,000 3,000
01 =4I 3,000 3,000




A HaAM
¥ HoIs el

Gl MBMY D] & HDI2 XE 22l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OPMEE S 22 Mzt
3,000,000& 3,000
308 AXIHSO0IA 4,840,000 4,768,211 71,789
07 HXHH 2L RES 4,500,000 4,418,211 81,789
Odl iHgd =34l 4,500,000,000& 4,500,000
14 JIEtRE3 340,000 350,000 10,000
O): PI=bsi=E =t 340,000,000 340,000
SEHHIY =HEA(AAEE) 173,470 198,000 AN24,530
= 31,540
== 28,386
o 113,544
301 22N = 173,470 198,000 N\24,530
= 31,540
S 28,386
o 113,544
4Bt 2as 173,470 198,000 N\24,530
OsEZHHY =HEd= dEE
173,470,000& 173,470
= 31,540
= 28,386
Ea 113,544
=2l0lE MelX# 933,280 890,520 42,760
[ 466,640
= 139,992
[Ea 326,648
402 2IZtA=01d 933,280 890,520 42,760
[ 466,640
= 139,992
= 326,648
03 2I2+RAETAIS I 933,280 890,520 42,760
O=dI0OIE Ml & HEALE
933,280,000 933,280
[ 466,640
= 139,992
= 326,648
SAEE =4S LXK 5,000 5,000 0
= 1,500
o 3,500
201 fer= 3| 5,000 0 5,000
== 1,500
o 3,500
01 At22t2l] 5,000 0 5,000
Osa gl =g 72 5,000,000& 5,000




2A:

AP M

M HolE 2el
Rl dEMY D] & HOIE XIE 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,500
s 3,500
SEHHE S5 dotd XA 30,000 40,000 10,000
= 9,000
Ea 21,000
401 Al&HIZ S| 30,000 40,000 210,000
= 9,000
2 21,000
01 Al&H| 30,000 40,000 10,000
OSZHHIE 25 FotT LA
30,000,000 30,000
= 9,000
= 21,000
=EUHEZ = 2,000 8,200 26,200
201 Let=E] 2,000 8,200 26,200
01 At2teltl 2,000 8,200 26,200
OREAY HHZSE 457 79
2,000,000 2,000
HolE & ArE=g A= 15,000 30,000 15,000
207 ARl 15,000 30,000 15,000
NIEEEET 15,000 30,000 15,000
OSAlE MoK U SHHIIS Ml 4t
gt 89 15,000,000 15,000
MEHIIZ =017 2SS 24,780 76,568 A51,788
201 er23 | 24,780 68,568 N43,788
01 At2teltl 24,780 68,568 NN43,788
ORFID SAISMEDI HZEH Xl
60,0002 = 50CH * 6& 21,240
OUEHII= 2tEE dXZH e ==
= 20,0002 » 128 240
OWEHIIS 1S AHIA 0122
275,0008 = 128 3,300
=g (Hes) Sdstitd 58,200 0 58,200
= 29,100
Ea 29,100
201 er2 3| 43,200 0 43,200
=S 21,600
s 21,600
01 AtR2t2|HI 43,200 0 43,200
OgzE= gl =Ml &=I|
40,000,000 40,000
< 20,000
= 20,000
OXtd=ate & =29 3,200,000& 3,200
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2A:

AP M

Zu: ple 22
Gl MBMY D] & HDI2 XE 22l (CH9: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 1,600
s 1,600
401 AlEHIZ 2 0HbI 15,000 0 15,000
= 7,500
2 7,500
01 Al&H| 15,000 0 15,000
g=ef M| 21
3,000,000& * 5CH 15,000
S 7,500
ia 7,500
MEHI S =28t 415,558 245,791 169,767
101 e124d| 344,188 221,102 123,086
04 JIZtN22 S8+ 344,188 221,102 123,086
OJelda gZaeld 21| 280,377
-= 2,060,740 * 13& = 93 241,107
—HAx==E 78,880 * 138 » 9 9,229
A2 2 250,336,000 * 12% 30,041
O=HZ0I3H tHMel™ oly| 63,811
=0 2,599, 1402 + 28 » 98 46,785
—EU22E 93,3003 * 2% * 45 8,397
RSP 99,5203 * 2F * 9 1,792
-ABIEEE 56,974,000 * 12% 6,837
201 LBt 65,220 23,236 41,084
01 AtR2telbl 36,580 17,196 19,384
Otd0Istd SN2 2A2|ES 2
33,780,000 33,780
OFIN 2e=8 € Fak+ 7
1,000,000 1,000
OZ0lsd 38+ 7Y
100,000& = 122 1,200
OetZ0lst UM H WS
50,000& = 123 600
02 324l 28,640 6,040 22,600
OF X XX L1EH| AIAE OIS
145,000& = 122 1,740
OHZ0IEHR XX &MIIe3
200,000& = 128 2,400
O=HZ0IsH XX =23
100,000& * 122 1,200
OZ 01t XA Hs 2
700,000 700
O=td0Istd 8812 NZAAE KX
650,000& * 43 2,600
O3 At &l #=cld] 20,000,000& 20,000
401 AlEHIZ S 0HbI 6,150 0 6,150




A HaAM
¥ HoIs el

Rl dEMY D] & HOIE XIE 22 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 6,150 0 6,150
OFaxe AKX HA 2 FHEZ wH==cll
4,500,000& 4,500
OF X XX =Xl R AEH X
1,650,000& 1,650
otdat= MAeJ] FaotAte 60,000 0 60,000
= 42,000
= 18,000
101 @124H| 60,000 0 60,000
= 42,000
s 18,000
MU ORINZENSES 60,000 0 60,000
Odtast+ etd2c|d 21|
60,000,000 60,000
= 42,000
o 18,000
GsHIIE +=HMel KA 63,000 70,000 A7,000
[ 18,900
Ea 44,100
401 Al HIZL 201 63,000 70,000 A7,000
S 18,900
= 44,100
01 Al&HI 58,800 70,000 211,200
OgsHIlZ2 fI8X2lI 58,800,000& 58,800
= 17,640
Ea 41,160
03 AlESTHYI 4,200 0 4,200
OY=HIIE =9 FAX L]
4,200,000 4,200
[ 1,260
Ea 2,940
Hes st gs N 3,000 0 3,000
301 EtE NS 3,000 0 3,000
14 IIEt2 83 3,000 0 3,000
OTMES Jbs T 471 =23 29
3,000,000 3,000
HOIENE S2Ad6ty 83 60,000 0 60,000
307 @I2t01 & 60,000 0 60,000
05 eit?(& = 60,000 0 60,000
OHPIENE S2tdotd 2el 89
60,000,000 60,000
IEE2R 2el 4,459,033 1,172,482 A\6,713,449
) 809,400
o 3,649,633




SH: BASIMDL
M JIEER 2l
B2l JIEERHEAE 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RERHEALE 2l 55,886 3,678 52,208
BHIEAIE 2l 55,886 3,678 52,208
201 er23| 3,678 3,678 0
01 At2teltl 1,024 1,024 0
OJI=2HEAE OIS SAHI
8,000 * 4% » 323 1,024
02 S3=4gHl 2,654 2,654 0
OAHZAl ZLIHEAIAE CIEHS AIZE
72,6008 » 123 872
OSHF2EAl RLIEZAIAE LTE RM2t2R
11,0008 * 122 132
OSLFHZTAl RLIHEAIAYE S22 22|
1,650,000 1,650
202 04| 8,208 8,208
01 2LHA b 8,208 8,208
OI=A g2 64| 8,208,000& 8,208
207 ARl 44,000 44,000
01 H2E4HI 44,000 44,000
OS42 JIEAF Mg Ngs HE
DA ES 22,000,000 22,000
OS8R HE2Lz2 NEHE B 2
£ B9 22,000,000 22,000
RER S3X2AE 665,000 491,460 173,540
IEER S3XMelAd £X1 - 23 665,000 491,460 173,540
201 =3 1,000 0 1,000
01 At22t2l] 1,000 0 1,000
OS2 (& NF=&AE)
1,000,000 1,000
301 EtE NS 14,000 14,000
14 J|EIE &S 14,000 14,000
OJE20 SSHCIAE FHEOtE VIEEY
= 14,000,000 14,000
401 AlZHIZ SO 650,000 199,000 451,000
01 A28l 650,000 199,000 451,000
020243 II=2E SSXCIAE FHO=S
FOI=RAIY 200,000,000 200,000
OUHIM&EE &Il
150,000,000 * 37K 450,000
=2 SSHEIAE(F=RIHESLSIAH) 3,738,147 10,677,344 26,939,197
Jl 809,400
o 2,928,747
=R B3XMelAd £X1 - 23 3,738,147 10,677,344 6,939,197
Il 809,400
o 2,928,747
307 212+01& 2,746,667 0 2,746,667




SM: BASIMT
M JlE2L B2
o JIEEL DRHRIAL(SENLSEEH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 2,746,667 0 2,746,667
OIIEEx E3XclAE 28|
10,300,000,0008 / 36 = 12& * 80% 2,746,667
403 MR EHSAHE01H 991,480 10,677,344 A\9,685,864
Jl 809,400
s 182,080
02 S7I2S0 U H=E 2 E AL 991,480 10,677,344 A9,685,864
OJt=Eh SSX2IAE XA
69,000,000 69,000
7l 69,000
Osd Xl A= AE EXAY
922,480,000 922,480
7l 740,400
Ea 182,080
AlZeldze] X 416,638 525,249 108,611
= 169,133
= 37,050
= 210,455
ASESYA o2t 416,638 525,249 108,611
= 169,133
< 37,080
s 210,455
Pl el 17,940 20,940 A3,000
201 er23 | 4,500 7,500 A3,000
01 At2teltl 4,500 7,500 A3,000
OAESIMBR ERE N
2,000& = 1,0000H 2,000
ORIFAAl U XISZE A4l S0
250,000 * 105 2,500
202 04| 13,440 13,440
01 =LHO LI 13,440 13,440
ORISR =20 13,440,000& 13,440
A NEEHS 7,432 7,328 104
201 Ler23 | 832 728 104
01 At2teltl 832 728 104
OAdHA: Nes sS4
8,000 * 8% 133 832
301 Eet2 NS 6,600 6,600
14 0Bt 2as 6,600 6,600
OLHIT A2 A2 2SS
50,0002 * 20& = 5& 5,000
ONS+=H BANE =324
20,000& * 80A 1,600
DA Sd2e 38,000 38,000 0
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2A:

AP M

B WHSHAH|(HASM)
Sl J12gHI(HAAM4D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 1,769 1,769 0
OBHHY| S22t 1,500
IS A1
1,300,000 * 22CH * 5% 1,430
-Teig 4,000,000& * 20H * 2% 160
ORdgs ME=
14,850 » 104 « 12& 179
202 04l 2,160 2,400 A240
01 =LHAHI 2,160 2,400 AN240
OFAAY L HRFA 0]
2,160,000& 2,160
203 =4l 4,200 3,600 600
04 FAE2EERFAH 4,200 3,600 600
ORA2gALEAY
350,000 = 12 4,200
HReS (A4 4,302,633 1,016,347 3,286,286
WHEHHXIZ(F L2140 4,302,633 1,016,347 3,286,286
SSEMYDINEE F2UXN) = HES 1,373,886 388,003 985,883
RJIsdES 1,373,886 388,003 985,883
(UII=ESE= 1,373,886 388,003 985,883
OZgMADINEE FEXNEI s &S
1,373,886,000& 1,373,886
FENESEIANDES 2,928,747 628,344 2,300,403
701 JIEtRI HSHES 2,928,747 628,344 2,300,403
01 It AN ES 2,928,747 628,344 2,300,403
O+TINHSEEN BESOIERE DA
2lAl" 29Hl) 2,746,667,000& 2,746,667
O=ciXl THE=AIE XA
182,080,000& 182,080
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